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FINANCIAL PERFORMANCE OF KUNDAL CO - OPERATIVE LIFT
IRRIGATION SOCIETY

INTRODUCTION:

Financial performance shows the position of institution. It shows Society 1s
solvent and liquid or not. It is able to pay their all obligations performance evolution
which is showing that the society is in good or bad position. Performance Evaluation
is made with the help of ratio analysis. We calculated liquidity, solvency and
profitability with the help of annual report of cooperative society .We analyses
financial position of CLIS by observing this ratio.

1) Profitability ratio

Profitability means ability to earn profit. It shows business of the society which
is done in well sense or not. Profitability is important measure of society’s financial
position.

Profitability ratio

Net profit
Return on investment = x 100
Total investment

This ratio shows the profitability of total investment. It indicates the relation of profit

in respect to total investment

TABLE NO 3.1
RETURN ON INVESTMENT RATIO
YEAR SATYESHWAR TUPARI BASWESHWAR
2007-08 17.25% -2.55% 1.67%
2008-09 -2.8% 12.42% -0.03%
2009-10 -11.03% 3.711% 0.30%
2010-11 5.42% -1.61% -8.81%
2011-12 -10.36% -4.97% -2.60%
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12societylosses of -8.81 % and 2.60% respective. It shows the decreasing trend of
losses it is good for society.

By observing these three societies we analyses that all three societies are not in
well position. They are suffering losses .It indicates profitability of societies are
negative. It is not good indicating for futures of societies. They are not giving
sufficient return on Investment. Tupari and Basweshwar irrigation societies are facing
losses but percentage of losses are recoverable If societies works efficiently they
achieve good results.

But Satyeshwar Irrigation society suffers lessees at high percentage. It needs
total a proper action on problem of society. There for society arises a risk of survival.
LIQUIDITY RATIOS:

Liquidity means ability to pay shot — term obligation. It shows the society is
able to pay their short term obligation with use of short term assets.

Liquidity ratio also shows the society is working in correct manner.
Liquidity ratio (Part)

Current Asset

Current assets =
Current Liability

It shows the relation of current assets and current liability. It shows the
proportion of current liability.

It shows the proportion of current assets and current liability.

It indicate ratio so current asset in respect of current liabilities .It include assets

are sufficient or not to pay short term obligation. Ideal current ratio is 2.1

TABLE NO 3.2
CURRENT RATIO
YEAR SATYESHWAR | TUPARI | BASWESHWAR
2007-2008 2.86% 5.985% 3.06%
2008-09 1.64% 4.19% 8.42%
2009-10 0.74% 11.94% 7.37%
2010-11 0.87% 23.08% 6.55%
2011-12 0.53% 22.05% 3.60%









2007 -08 acid test ratios is 0.16:1 after it shows tremendous increase in this ratio. In
2008-09 ratio is 6.61:1 and in 2009-10 it is 6.24:1 in shows society is capable to pay
immediate obligation .But in 2011-12 it show high ratio is 5.26:1. This indicates
society invested high fund in liquid assets than liquid liability.

In Tupari Dhayari Ghayari Ghogaon and Geneshwad irrigation society
| Acid test ration at 2007-08 is 6.53:1 it liquid assets . That would be not used properly
and efficiently. In 2008-09 it is decreased in small ratio up to 3.85:1. In 2009-10 acid
test ratio is 10.70:1 after it is increasing as double up to 20.58:1 in 2011-12. That
means society is not utilizing their funding proper manner. It loads to wastage of
funds.

In all thé according to above observations three societies are facing problem
of liquidity. It needs to proper utilization of fund. Societies is under take fair solutions
for survival.

SOLVENCY RATIO: -
Solvency means ability of company to meet long term obligations. It is the
important in sqrvived of societies solvency ratio involves long term elements of

societies. Solvency ratio involves long term elements of societies.

SOLVENCY RATIO:
Debt — equity ratio
Debt =

Equity
Debt — equity ratio shows the proportion of debt and equity. It indicates relation

of outsider’s funds to owner’s capital. This ratio indicates financial structure of

society.
TABLE NO 3.4
SOLVENCY RATIO:
YEAR SATYESHWAR TUPARI 'BAS’WESHWAR
2007-08 | 1391 1.77:1 1.13:1
2008-09 e 1.61:1 1.27:1 1.13:1
2009-10 1.25:1 1.32:1 1.23:1
2010-11 1.14:1 1.35;1 1.33:1
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position. In 2007-08 turnover is 0.11 times to total fund .This ratio lies between 0.10
times to 0.13 times .It is very low or inefficient result from investment.
It is less than Satyeshwar society. In Basweshwar irrigation society in

2007-08 total investment turnover ratios is 0.11in 2007-2008 times after that it has
decrease in 2008-09 up to 0.10 times. From 2009-10 it shows increasing trend. It
shows increasing outcomes output of total fund. In 2011-12 total fund turnover ratio is
0.16 times. But it is not sufficient ratio. It shows all a satisfactory result from total
fund .Basweshwar society trying to improving their position with increasing results.
WORKING CAPITAL TURNOVER RATIO:

Working capital turnover ratio shows the proportion of turn over to working

capital. Irrigation society’s turnover measures in water rent.

Water rent
Working capital Turnover ratio =
Working capital
If shows fund invested in working capital gives or not efficient result
TABLE NO 3.7
WORKING CAPITAL TURNOVER RATIO
YEAR SATYESHWAR | TUPARI | BASWESHWAR
2007-08 0.61 times 0.8 times 0.20 times
2008-09 0.03 times 0.36 times 0.01 times
2009-10 3.31 times 0.11 times 0.10 times
2010-11 0.10 times - 0.03 times 0.25 times
2011-12 NA - 0.13 times 0.54 times
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